
Name______________________________________  Geometry  Chapter 4 Proofs Part 1 
 
Complete each proof. 
 

1.  . Given: 𝐴𝐸̅̅ ̅̅  and 𝐵𝐷̅̅ ̅̅  bisect each other  at C   2. Given: 𝐶𝐷̅̅ ̅̅ ≅ 𝐸𝐴̅̅ ̅̅ , 𝐴𝐷̅̅ ̅̅  is the                                                  
        Prove: ∆𝐴𝐶𝐵 ≅ ∆𝐸𝐶𝐷                                                                                   perpendicular bisector 
                             of 𝐶𝐸̅̅̅̅  
                     Prove: ∆𝐶𝐵𝐷 ≅ ∆𝐸𝐵𝐴 
  

        1.  𝐶𝐷̅̅ ̅̅ ≅ 𝐸𝐴̅̅ ̅̅         1.      

        2. 𝐴𝐷̅̅ ̅̅ ⊥ 𝑏𝑖𝑠𝑒𝑐𝑡𝑜𝑟 𝑜𝑓 𝐶𝐸̅̅ ̅̅       2. 

          3.         3. Def ⊥ 𝑏𝑖𝑠𝑒𝑐𝑡𝑜𝑟 

              

        4. ∆𝐶𝐵𝐷 and ∆𝐸𝐵𝐴 are rt ∆′𝑠    4.  

        5. ∆𝐶𝐵𝐷 ≅ ∆𝐸𝐵𝐴     5.  
 
 
3.  Given:  𝐸𝐴̅̅ ̅̅ ≅ 𝐷𝐶̅̅ ̅̅ ,       4. Given:  𝐻𝐽̅̅̅̅ ∥ 𝐾𝐿̅̅ ̅̅ , 𝐻𝐿̅̅ ̅̅ ∥ 𝐾𝐽̅̅ ̅     
                   ∠𝐴 and ∠𝐶 are right angles,         Prove: ∆𝐻𝐽𝐿 ≅ ∆𝐾𝐿𝐽 

                   𝐵 is the midpoint of 𝐴𝐶̅̅ ̅̅  
     Prove: ∆𝐸𝐵𝐴 ≅ ∆𝐷𝐵𝐶 
  
 
1. 𝐸𝐴̅̅ ̅̅ ≅ 𝐷𝐶̅̅ ̅̅      1. 

2. ∠𝐴 and ∠𝐶 are right angle        2.        1.    HJ || KL         1.   

3. ∠𝐴 ≅ ∠𝐶      3.        2.           2.  ∥, alt int ∠′𝑠 ≅  

4. 𝐵 is the midpoint of 𝐴𝐶̅̅ ̅̅    4.        3.           3.  given 

5.      5. Def midpoint      4.  HLJ  KJL       4.   

6. ∆𝐸𝐵𝐴 ≅ ∆𝐷𝐵𝐶    6.        5.           5. 

            6.  ΔHJL  ΔKLJ       6.    

 
 
5.  Given:  𝐺𝐾̅̅ ̅̅  bisects ∠𝐽𝐺𝑀, 𝐺𝐽̅̅ ̅ ≅ 𝐺𝑀̅̅̅̅̅    6. Given: 𝑄𝑅̅̅ ̅̅ ≅ 𝑇𝑆̅̅̅̅ , 𝑄𝑅̅̅ ̅̅ ∥ 𝑇𝑆̅̅̅̅     
      Prove:  ∆𝐺𝐽𝐾 ≅ ∆𝐺𝑀𝐾          Prove: ∆𝑄𝑅𝑇 ≅ ∆𝑇𝑆𝑄 
   
   
  
 
         
1.  𝐺𝐾̅̅ ̅̅  bisects ∠𝐽𝐺𝑀       1.     1.        1.Given 

2.  JGK  MGK    2.    2.  𝑄𝑇̅̅ ̅̅ ≅ 𝑄𝑇̅̅ ̅̅      2. 

3.  𝐺𝐾̅̅ ̅̅ ≅ 𝐺𝐾̅̅ ̅̅         3.    3.  ∠RQT ≅∠STQ    3. 

4.  ∆𝐺𝐽𝐾 ≅ ∆𝐺𝑀𝐾       4.    4. ∆QRT ≅ ∆TSQ    4. 

  



7.  Given: ∠1 ≅ ∠2, 𝐷𝐻̅̅ ̅̅  bisects ∠𝐵𝐷𝐹       

      Prove: ∆𝐵𝐷𝐻 ≅ ∆𝐹𝐷𝐻 
 
 
   

 
1. ∠1 ≅ ∠2    1. 

2.     2. Given 

3. ∠BDH≅∠FDH  3. 

4.     4.  Reflexive 

5. ∆BDH≅∆FDH  5. 

 

         

 

8. Given: 𝐻𝑉̅̅ ̅̅ ⊥ 𝐺𝑇̅̅ ̅̅ ,  𝐺𝐻̅̅ ̅̅ ≅ 𝑇𝑉̅̅̅̅    
                   I is the midpoint of 𝐻𝑉̅̅ ̅̅        

     Prove: ∆𝐼𝐺𝐻 ≅ ∆𝐼𝑇𝑉 
 
 
 
      

1. 𝐺𝐻̅̅ ̅̅ ≅ 𝑇𝑉̅̅̅̅     1.  

2. 𝐻𝑉̅̅ ̅̅ ⊥ 𝐺𝑇̅̅ ̅̅     2. 

3. ∠𝐺𝐼𝐻 𝑎𝑛𝑑 ∠𝑇𝐼𝑉 are rt ∠′𝑠  3. 

4.      4. Def rt ∆′𝑠 

5.      5. Given 

6. 𝐻𝐼̅̅̅̅ ≅ 𝐼𝑉̅̅ ̅   6.  

7. ∆𝐼𝐺𝐻 ≅ ∆𝐼𝑇𝑉  7.  
 

 
9.  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


